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1. The figure below shows a vernier calipers being used to measure the length of a glass
block.
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2. State two charactgﬂs\t};s of an image formed by a pinhole camera. (2mks)
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i) What change is observed to the movement o;jsmoke particles when temperature is
increased. ~
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5. A pinhole camera forms an image of size Scm tall for an object placed 25m away from
pinhole. If the height of the object is 5M. Find the length of the pinhole camera(3mks)
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6.i) Name three magnetic matetials, N —= 25 CM i‘v/ (3mks) .
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1) In the space below, draw a diagram to show the difference between magnetized steel

bar and unmagnetised steel bar using the dormain theory of magnetism.(2mks)
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7. State the difference between scalar and vector ﬁm (1mk) '
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8. (i)Two similar open tins with equal amounts of water at 80°C were left to cool. If tin A is
shinny and B is blackened, sketch on the same axes the graphs of temperature against -
time for tin A and tin B. (2mks)
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(ii) Mention two features in a thermos flask which reduce heat loss by conduction.(2mks)
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9. Define polarization as a defect of a simple cell and state how it can be
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10. Give one advantage of connecting bulbs in parallel in domestlc lighting.  (1mk) ‘Q e i”‘—J“‘ S
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SECTION B (55MKS)
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ii)  State two conditions of a body to be at equ1hbr1um A (2mks) g
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¢) The figure 1. Shows a wire in a magnetic field. A current is switched on to flow throug the Luvyee

wire in the direction shown. State the direction of motion of wire. (1mk)
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d)i) An un-insulated copper wire XY lies over the fixed wire A and B connected to a battery.
When the key in the circuit is closed, the rod XY moves. In which direction does the wire XY

experience the force? (Indicate using an arrow) (1mk)
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iii) ~ When is the force on the wire XY greatest?
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e) State two factors that affect the strength of an electromagnet. (2mks)
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g) Distinguish between hard a.l}d soft magnetic materials (1mk)
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h) Explain why repulsion is the only surest method of determining the polarity of a magnet.
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12. State three uses of a charged gold leaf electroscope. (3mks)
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1) The figiie below shows an ObJ ect O phced in ffont of a concave mirror.—Fhe figure is drawn

to scale.

1) By drawing suitable rays, show the position if the image (3mks)
ii) Use the ray diagram to determine the:
a) Image distance (1mk)
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b) Magniﬁcation (2mks)
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1i1) State one characterlis of the image formed (1mk)
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¢) State two advantages of using convex mirrors to monltor movement in large
supermarket.
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13.Inan expenment to determine the density of sand using a density bottle, the followmg

measurement were recorded. 678
Mass of empty density bottle = 44.2¢g o v
Mass of density bottle full of water = 67.5g /‘ B 2

Mass of density bottle with some sand = 69,g
Mass of density bottle with sand and filled up with water = 83 Sg
Use the above data to determine the:- :
i) Volume of water that completely filled the bottle. Qmk) #
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iv) Mass of sand. (Imk)
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V) Density of sand j’—g—i (3mks)
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13b)i) The diagram below shows how magnets are re stored in pairs with keepers at the ends.
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Explain how this method of storing helps in retaining magnetism longer. (2mks)
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ii) In the sketch diagrams below identify the points marked W, X, Y (3mks)
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¢)A light rod AB is in equilibrium when forces 3N, 5N and x alt on it as shown in the figure

below. Find the magnitude of X (3mks)
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d) Explain why:
i) It is not safe for a double decker bus to carry standing passengers on the upper

decker.
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ii) Bus body builders build luggage compartments under the seats rather than on roof
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14. The fig below shows a part of an experiment set for estimating the diameter of the oil
molecule.
a) Describe how the oil patch is formed. (2mks). L
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¢) State two assumptions made in the experiment.
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d) The figure below shows a clinical thermometer which is graduated.
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11) Mark the appropriate scale range in degrees celcius. J (1mk)
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iii) Explain the use of part Y (1mk)
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